NAME……………………………………………………..ADM NO……………………………CLASS……………
[bookmark: _GoBack]TERM 3MID TERM EXAM
MATHEMATICS FORM 3
INSTRUCTION: This paper consist of two section A and B answer all question in section A and section B 
SECTION A  (50 MKS)
1. Solve 120X-3    =15X-3								(3mks)




2. A rectangle is  three time as long as it is wide if it has its dimension increases by 20% find the percentage change in its area						(4 mks)



3. A sales man earn 3% commission for selling a chair and 45 Commission for selling a table a chair fetches sh 600 while the table goes FOR SH 15000.One time he sold more chair  than tables and earned sh 72000 as commission. Find the number of chair and table he sold



4. The figure  below  a show a circle centre O.OS  is the mediator of PQ and cuts PQ at R if PQ =30 cm and RS =9cm, calculate the radius of the circle				(4 mks)
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					   S


5. Simplify      9x2-1
   3x2+2x-1								(3 mks)



6. The region R in the figure below is define by the inequalities L1,L2 andL3.Find the three inequalities								(3 mks)









7. Without using mathematic tables or a calculator evaluate		(3 mks)
 0.184
       






                                                                                         
8. A regular polygon has interior angle of 1500  and a side of length  10cm 
a) Find the number of sides of the polygon					(2 mks)


b) Find the perimeter of the polygon						(2 mks)




9 This similar solids have surface areas of 48cm2 and 108cm2 respectively. Find the volume of the smaller solid if the biggest one has a volume of 162cm3              		(3mks)



a. A building was valued at sh 500000 in January i999 due to high demand the building appreciated by 15% every year. What was its value at the end of December 2001?    (3mks 





10 Solve forX  in
Log2    LogX2  =2  								(3 mks)





12. Rationalize and simplify							(3 mks)

+
-   






13. The figure below show triangle ABC in which AC =16.4cm,BAC =220 and 1260.Find side AB and BC									(3mks)


14. Three men working 8 hours daily can complete a piece of work in  5 days. Find how long it would take 10 men working 6 hours a day to complete the same work		(3 mks)



15. Solve the simultaneous equation for real value of easy			(3 mks)
Y 2 =x-1
Y4 +3x=7





16. Factorize completely							(2mks)



   t8 - t4

SECTION  9 (50MKS)

17. Income rate for income earned were charged as follows
Income in ksh P.M					Rate in ksh per sh 20
1-8,400							2
8401 -18000						3
18001-30,000						4
30,001 -36,000						5
36,001-48,000						6
48,001 and above					7
A civil servants earns a monthly salary of ksh 19200.His house allowance is sh 12000 per month other allowance per month are commutes ksh 1300 and medical allowance ksh 2300.He entitled to a family relief of ksh 1240 per month
Determine
a) I) His monthly taxable income						(2 mks)


ii) Net tax									(5 mks)







b) In addition the following deduction were made NHIF ksh 230,service charge ksh 100, loan repayment ksh 4,000 and cooperative shares ksh 1200
c) Calculate his net salary per month						(3 mks)



18. Two circles with centers A and B intersect at C and D as shown below.The radii are 0.084 and 0.105 m respectively.The two centres are 12cm apart and AP:P










A) Calculate  angle CAD and angle CBD					(4mks)


B) The length of the minor CD of the smaller circle 				(2 mks)




C) The area of the shaded region						(4 mks)



19. The figure below shows a solid consisting of a hemisphere dome fitted on a cylinder past of radius 7cm and height 10cm.The unit is then centrally fixed onto a bigger cylinder of height 12cm and radius 10cm.







Calculate
a) The surface area of the hemisphere					(2 mks)


b) The curved surface area of the small cylinder surface		(2 mks)

c) Surface area of the larger surface					(5 mks)



d) Total surface area of the solid					(1 mk)

20. A bus and a Nissan left Nairobi for Eldoret At distance of 340 km at 7.00am the bus travelled at 100 km/h while the Nissan travelled at 120km/h after 30 minutes, the Nissan had a puncture which took 30 minutes to mend
a)  Find how far from Nairobi did the Nissan catch up with the bus	(5mks)



b) At what time of the day did the Nissan catch up with the bus	(2 mks)



c) At what time did the bus reach Eldoret 				(3 mks)



21. (a) Given that the matrix P = 
Find P-1  (the inverse+ p)						(2mks)





b) In a certain county election campaign senator had to hire helicopters to transverse the county and hire Lorries to ferry his supports to campaign rallies. A  helicopter is  hired per hour while a lorry is hired per day .The cost of hiring 3 helicopters and 7 lorries is 758000 while that of hiring 5 such helicopter and 4 lorries is sh 926000
i) Form two equations to represent the above information			(1mk)



ii) Use matrix method to find the cost of hiring a helicopter per hour and that of hiring a lorry per day							(4 mks)




d) On a certain dat,Mr Seneta hired 2 such helicopters rom o81 sh to 171sh and 8 such lorries calculate the total amount paid by Mr Seneta 					(3 mks)
